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Пять первых дросселей выпаяны из какого-то древнего японского телевизора. 

	
	RLC-2

100 Гц
	RLC-2

1 кГц
	RLC-2

10 кГц
	DE-5000

100 Гц
	DE-5000

1 кГц
	DE-5000

10 кГц
	DE-5000

100 кГц

	333J


	32,02 мГн

Q=0,2

Rs=76,50 Ом
	31,67 мГн
Q=2,9
Rs=67,90 Ом
	31,28 мгн
Q=27,8
Rs=70,5 Ом
	33,34 мГн
Q=0,311
Rs=68,3 Ом
	33,66 мГн
Q=3,05
Rs=69,2 Ом
	32,11 мГн
Q=25,7
Rs=78,2 Ом
	34,45 мГн
Q=70,8
Rs=304 Ом

	273J
	26,66 мГн
Q=0,2
Rs= 57,01 Ом
	26,49 мГ
Q=2,8
Rs=57,17 Ом
	26,25 мГн
Q=27,7
Rs=59,3 Ом
	27,9 мГн
Q=0,306
Rs=56,9 Ом
	27,81 мГн
Q=3,04
Rs=57,3 Ом
	26,91 мГн
Q=25,7
Rs=65,6 Ом
	28,62 мГн
Q=70,1
Rs=254 Ом

	103J
	10,08 мГн
Q=0,2
Rs=30,06
	10,07 мГн
Q=2,0
Rs=30,15
	9,974 мГн
Q=20,1
Rs=30,9 Ом
	10,463 мГн
Q=0,219
Rs=30,0 Ом
	10,477 мГн
Q=2,17
Rs=30,2 Ом
	10,182 мГн
Q=19,68
Rs=32,4 Ом
	10,365 мГн
Q=78,8
Rs=82,1 Ом

	6R8J
	6,8 мкГн
Q=0,1
Rs=0,0293 Ом
	6,88 мкГн
Q=1,6
Rs=0,0294 Ом
	6,885 мкГн
Q=15,2
Rs=0,0284 Ом
	7 мкГн
Q=0,164
Rs=0,0 Ом
	7,0 мкГн
Q=1,700
Rs=0,02 Ом
	7,04 мкГн
Q=17,40
Rs=0,02 Ом
	6,89 мкГн
Q=70,0
Rs=0,06 Ом

	3R3J
	3,2 мкГн
Q=0,1
Rs=0,0183 Ом
	3,32 мкГн
Q=1,1
Rs=0,0183 Ом
	3,316 мкГн
Q=10,6
Rs=0,0196 Ом
	3 мкГн
Q=0,112…
…0,150

Rs=0,00 Ом
	3,3 мкГн
Q=1,232
Rs=0,01 Ом
	3,37 мкГн
Q=12,77
Rs=0,01 Ом
	3,302 мкГн
Q=95,5
Rs=0,02 Ом

	151K
	152,7 мкГн
Q=0,3
Rs=0,2751 Ом
	152,2 мкГ
Q=3,4
Rs=0,2760 Ом
	152,23 мкГн
Q=33,5
Rs=0,2841 Ом
	154 мкГн
Q=0,2
Rs=0,2 Ом
	154,6 мкГн
Q=3,56
Rs=0,27 Ом
	152,89 мкГн
Q=31,2
Rs=0,30 Ом
	152,07 мкГ
Q=66,9
Rs=1,41 Ом

	39 мкГн 20%
	36,5 мкГн
Q=0,3
Rs=0,199 Ом
	36,45 мкГ
Q=1,1
Rs=0,1951 Ом
	36,46 мкГн
Q=11,5
Rs=0,1970 Ом
	37 мкГн
Q=0,0119
Rs=0,1 Ом
	37,5 мкГн
Q=1,208
Rs=0,19 Ом

	37,08 мкГн
Q=11,3
Rs=0,20 Ом
	36,76 мкГн
Q=54,2
Rs=0,42 Ом
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